

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 16, 2021

Progress Estimate Number	Contract ID	201120-G06	Pay Period Start	November 2, 2021	Original Contract Amount	\$7,065,487.34
5	Prime Contractor	Capital Paving & Construction, LLC	Pay Period End		Net Change Order Amount Current Contract Amount	\$4,817.55 \$7,070,304.89

Approval Date		By User
November 16, 2021	Generated and Approved (and should be considered Draft) at the Project Office Level by	davisjf
November 16, 2021	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	gripkd
November 17, 2021	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2021	November 1, 2021		33.12%

	Milestones					
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract			
Acceptance Date						
Awarded Date	December 2, 2020	December 2, 2020				
Letting Date	November 20, 2020	November 20, 2020				
Notice to Proceed Date	January 4, 2021	January 4, 2021				
Work Began Date						

Contract Total Pay For E	Estimate No. 5			
		This Estimate	Previous	To Date
201120-G06				
To	otal Posted Items Pay	\$719,939.49	\$1,621,854.05	\$2,341,793.54
G	ross Item Adjustments	\$60,613.16	\$469,004.96	\$529,618.12
In	centive	\$0.00	\$0.00	\$0.00
D	isincentive	\$0.00	\$0.00	\$0.00
Li	quidated Damage	\$0.00	\$0.00	\$0.00
0	ther Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$2,090,859.01	\$2,871,411.66
Contract Total Payable T	This Estimate:	\$780,552.65		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7P3276	0020	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	\$49.310	10,301.09	\$507,946.75	
	0030	4071005	TACK COAT	GAL	\$2.100	10,564	\$22,184.40
	0200	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	\$0.240	117,822	\$28,277.28	
Project J7P	3276 - To	tal					\$558,408.43
J7P3277	0250	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	TONS	\$48.260	1,859.73	\$89,750.57
	0260	4071005	TACK COAT	3,166	\$6,648.60		
	0430	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	22,229	\$10,669.92		
	0440	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$9.000	\$6,849.00	
Project J7P	3277 - To	tal					\$113,918.09
J8P3118	0470	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	TONS	\$47.630	779.38	\$37,121.87
	0640	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$0.310	4,180	\$1,295.80
	0650	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$9.000	1,021.7	\$9,195.30
Project J8P	3118 - To	tal					\$47,612.97
Overall - To	otal						\$719,939.49

Contract Adjustments This Estimate



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 16, 2021

Progress Estimate Number 5
Contract ID 201120-G06 Start November 2, 2021 Original Contract Amount \$7,065,487.34
Prime Contractor LLC Pay Period Start November 15, 2021 Original Contract Amount \$7,065,487.34
Pay Period End November 15, 2021 Original Contract Amount \$7,065,487.34
Pay Period End November 15, 2021 Original Contract Amount \$7,070,304.89

Line Item	<u>Adjust</u>	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7P3276	0020	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,941.19	\$4.22	\$8,184.83
	0020	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,671.49	\$4.22	\$11,264.07
	0020	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,785.85	\$4.22	\$11,746.26
	0020	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,902.56	\$4.22	\$12,238.35
	0020	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$21,552.41)
	0020	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$10,485.52)
	0020	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Other Item Adjustment		The AC adjustment represents 10,301.09 TONS of SP095 21-64.			\$32,731.71
J7P3277	0250	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,174.41	\$4.22	\$4,951.78
	0250	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	537.95	\$4.22	\$2,268.21
	0250	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	147.37	\$4.22	\$621.37
	0250	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	The AC adjustment represents 1859.73 TONS of SP095 21-65.			\$7,434.27
	0260	TACK COAT	Overrun			-818	\$2.10	(\$1,717.80)
J8P3118	0470	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	336.59	\$4.22	\$1,419.20
	0470	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	442.79	\$4.22	\$1,866.98
	0470	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-67	\$51.85	(\$3,473.71)
	0470	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Other Item Adjustment		The AC adjustment represents 779.38 TONS of SP095 21-65.			\$3,115.57
Total								\$60,613.16

Revision 4/1/2020 Page 2 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information					
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work					
J7P3276	FAF 13-2(86)	Resurface	13	POLK	from 0.5 mile north of Rte. UU to 0.1 mile south of 565th Road						
J7P3277	FAF 13-2(87)	Resurface	13	GREENE	from 0.1 mile south of 565	th Road to Rte. WW					
J8P3118 FAF Resurface 13 GREENE from Rte. WW to 0.1 mile north of Norton Road in Springfield											
Totals by .	Job Numbe	ers									
J7P3276	Gross	ed Item Pay s Item Adjustn		s Item Pay	This Estimate \$558,408.43 \$44,127.29 \$602,535.72	Previous \$0.00 \$256,423.42 \$256,423.42	To Date \$558,408.43 \$300,550.71 \$858,959.14				
	Liqui	itive centive dated Damage Contract Adj		s	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				
J7P3277		ed Item Pay s Item Adjustn		s Item Pay	This Estimate \$113,918.09 \$13,557.83 \$127,475.92	Previous \$669,200.34 \$84,956.49 \$754,156.83	To Date \$783,118.43 \$98,514.32 \$881,632.75				
	Liqui	tive centive dated Damage · Contract Adj		s	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				
J8P3118		ed Item Pay s Item Adjustn		s Item Pay	This Estimate \$47,612.97 \$2,928.04 \$50,541.01	Previous \$952,653.71 \$127,625.05 \$1,080,278.76	To Date \$1,000,266.68 \$130,553.09 \$1,130,819.77				
	Liqui	itive centive dated Damage r Contract Adj		s	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				

Revision 4/1/2020 Page 3 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 201120-G06, Contract Project J8P3118, Project Item Line Number 0470, Contract Line Item Number 0470, Item 4030003, Minor Item.	Item overrun will be adjusted soon with change order.	davisjf	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-G06, Contract Project J7P3277, Project Item Line Number 0260, Contract Line Item Number 0260, Item 4071005, Minor Item.	Item overrun will be adjusted soon with change order.	davisjf	Acknowledged

Revision 4/1/2020 Page 4 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
120-G06	J7P3276	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$0.01	\$0.0
		0001	0020	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	82,447.30	0.00	82,447.30	TONS	10,301.09	\$49.31	\$507,946.
		0001	0030	4071005	TACK COAT	97,450.00	0.00	97,450.00	GAL	10,564.00	\$2.10	\$22,184.
		0001	0040	4134000	BITUMINOUS FOG SEAL	59,119.00	0.00	59,119.00	GAL	0.00	\$2.42	\$0
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$750.00	\$0
		0001	0060	6161005	CONSTRUCTION SIGNS	2,111.00	0.00	2,111.00	SQFT	0.00	\$6.00	\$0
		0001	0070	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	-4.00	0.00	EA	0.00	\$100.00	\$0
		0001	0080	6161009	FLAG ASSEMBLY	4.00	-4.00	0.00	EA	0.00	\$20.00	\$0
		0001	0090	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	0.00	\$15.00	\$0
		0001	0100	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	10.00	0.00	10.00	EA	0.00	\$150.00	\$0
		0001	0110	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$750.00	\$0
		0001	0120	6161055	SEQUENTIAL FLASHING WARNING LIGHT	16.00	0.00	16.00	EA	0.00	\$50.00	\$0
		0001	0130	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$3,500.00	\$0
		0001	0140	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	0.00	\$2,000.00	\$0
		0001	0150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$197,331.48	\$0
		0001	0160	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	766.00	0.00	766.00	LF	0.00	\$20.00	\$0
		0001	0170	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	102.00	0.00	102.00	EA	0.00	\$250.00	\$1
		0001	0180	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	386,817.00	0.00	386,817.00	LF	0.00	\$0.19	\$
		0001	0190	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	261,101.00	0.00	261,101.00	LF	0.00	\$0.20	\$
		0001	0200	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	974,492.00	0.00	974,492.00	SQYD	117,822.00	\$0.24	\$28,27
		0001	0210	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	4,006.90	0.00	4,006.90	STA	0.00	\$9.00	\$
		0001	0220	6262000A	PORTLAND CEMENT CONCRETE SHOULDER RUMBLE STRIP	988.30	0.00	988.30	STA	0.00	\$51.00	\$
		0001	0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$750.00	\$
	Project J	7P3276 - To	tal Value	Posted to I	Date as of Report Generated Date							\$558,40
	J7P3277	0001	0240	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$0.01	\$
		0001	0250	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	12,672.50	0.00	12,672.50	TONS	12,287.04	\$48.26	\$592,97
		0001	0260	4071005	TACK COAT	14,912.00	0.00	14,912.00	GAL	15,730.00	\$2.10	\$33,03
		0001	0270	4134000	BITUMINOUS FOG SEAL	15,425.00	0.00	15,425.00	GAL	0.00	\$2.48	\$
		0001	0280	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$750.00	\$
		0001	0290	6161005	CONSTRUCTION SIGNS	2,111.00	0.00	2,111.00	SQFT	2,111.00	\$6.00	\$12,66
		0001	0300	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	-4.00	0.00	EA	0.00	\$100.00	\$
		0001	0310	6161009	FLAG ASSEMBLY	4.00	-4.00	0.00	EA	0.00	\$20.00	\$
		0001	0320	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	300.00	\$15.00	\$4,50
		0001	0330	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	10.00	0.00	10.00	EA	10.00	\$150.00	\$1,50
		0001	0340	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,50
		0001	0350	6161055	SEQUENTIAL FLASHING WARNING LIGHT	20.00	0.00	20.00	EA	20.00	\$50.00	\$1,00
				6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,00
		0001	0360	0101099	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED							
		0001	0360	6162004	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	8.00	0.00	8.00	EA	8.00	\$2,000.00	\$16,00
					INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	8.00	0.00	8.00	EA LS	1.00	\$2,000.00 \$34,524.11	
		0001	0370	6162004	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS							\$34,52
		0001	0370	6162004 6181000	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	1.00	0.00	1.00	LS	1.00	\$34,524.11	\$34,52 \$
		0001 0001 0001	0370 0380 0390	6162004 6181000 6200018 6200021	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW PREFORMED THERMOPLASTIC PAVEMENT MARKING,	1.00	0.00	1.00 70.00	LS LF	1.00	\$34,524.11 \$25.00	\$34,52- \$1
		0001 0001 0001 0001	0370 0380 0390 0400	6162004 6181000 6200018 6200021 6205902A	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEET/RIGHT ARROW 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	1.00 70.00 8.00	0.00	1.00 70.00 8.00	LS LF EA	1.00 0.00 0.00	\$34,524.11 \$25.00 \$250.00	\$16,00\\ \$34,52\\ \$1

Revision 4/1/2020 Page 5 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

te: Posted Q	uantities	and valu	co arc c	ascu on iv	eport Generated date and can differ from the posted amo	Juni at the i	ine the La	umate was	Ochiciat			
Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
1120-G06	J7P3277	0001	0440	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	761.00	0.00	761.00	STA	761.00	\$9.00	\$6,849.00
		0001	0450	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$750.00	\$0.00
	Project J	7P3277 - To	tal Value	Posted to D	Date as of Report Generated Date							\$783,118.43
	J8P3118	0001	0460	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$0.01	\$0.00
		0001	0470	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	16,376.70	0.00	16,376.70	TONS	16,443.70	\$47.63	\$783,213.43
		0001	0480	4071005	TACK COAT	19,254.00	-19,254.00	0.00	GAL	0.00	\$2.10	\$0.00
		0001	0490	4134000	BITUMINOUS FOG SEAL	10,110.00	0.00	10,110.00	GAL	0.00	\$2.43	\$0.00
		0001	0500	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$750.00	\$0.00
		0001	0510	6161005	CONSTRUCTION SIGNS	2,145.00	0.00	2,145.00	SQFT	2,145.00	\$6.00	\$12,870.00
		0001	0520	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	-4.00	0.00	EA	0.00	\$100.00	\$0.00
		0001	0530	6161009	FLAG ASSEMBLY	4.00	-4.00	0.00	EA	0.00	\$20.00	\$0.00
		0001	0540	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	300.00	\$15.00	\$4,500.00
		0001	0550	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	10.00	0.00	10.00	EA	10.00	\$150.00	\$1,500.00
		0001	0560	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.00
		0001	0570	6161055	SEQUENTIAL FLASHING WARNING LIGHT	32.00	0.00	32.00	EA	32.00	\$50.00	\$1,600.00
		0001	0580	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,000.00
		0001	0590	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	8.00	\$2,000.00	\$16,000.00
		0001	0600	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$58,272.93	\$58,272.93
		0001	0610	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	0.00	\$300.00	\$0.00
		0001	0620	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	76,852.00	0.00	76,852.00	LF	0.00	\$0.19	\$0.00
		0001	0630	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	60,192.00	0.00	60,192.00	LF	0.00	\$0.20	\$0.00
		0001	0640	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	192,531.00	0.00	192,531.00	SQYD	192,531.00	\$0.31	\$59,684.61
		0001	0650	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,021.70	0.00	1,021.70	STA	1,021.70	\$9.00	\$9,195.30
		0001	0660	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$750.00	\$0.00
	0001 5201 4071007 TACK COAT - LOW OR NON-TRACKING		0.00	19,254.00	19,254.00	GAL	18,528.00	\$2.42	\$44,930.40			
	Project J	3P3118 - <u>T</u> c	tal Value	Posted to D	Date as of Report Generated Date							\$1,000,266.67
120-G06 Ove	rall - Total	Value Post	ted to Da	te as of Rep	ort Generated Date							\$2,341,793.53

Revision 4/1/2020 Page 6 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J7P3276

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	4030003	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	11/10/21	11/16/21	1,941.19	TONS	Rte. 13 NB Passing Lane from LM 80.175 to LM 82.739.					
			11/11/21	11/16/21	2,671.49	TONS	NB Rte. 13 from LM 82.739 to LM 86.253.					
			11/12/21	11/16/21	2,785.85	TONS	NB Passing Lane Rte. 13 from LM 86.253 to LM 90.206.					
			11/15/21	11/16/21	2,902.56	TONS	NB Passing Lane Rte. 13 from LM 90.206 to LM 94.205.					
0030	4071005	TACK COAT	11/10/21	11/16/21	1,996.00	GAL	Rte. 13 NB Passing Lane from LM 80.175 to LM 82.739.					
			11/11/21	11/16/21	3,554.00	GAL	NB Rte. 13 from LM 82.739 to LM 86.253.					
			11/12/21	11/16/21	2,020.00	GAL	NB Passing Lane Rte. 13 from LM 86.253 to LM 90.206.					
			11/15/21	11/16/21	2,994.00	GAL	NB Passing Lane Rte. 13 from LM 90.206 to LM 94.205.					
0200	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	11/9/21	11/15/21	22,573.00	SQYD	Rte. 13 NB Passing Lane from LM 80.175 to LM 82.739					
			11/11/21	11/16/21	40,076.00	SQYD	NB Rte. 13 from LM 82.739 to LM 87.357.					
			11/12/21	11/16/21	22,838.00	SQYD	NB Passing Lane Rte. 13 from LM 87.357 to LM 90.206.					
			11/15/21	11/16/21	32,335.00	SQYD	NB Passing Lane Rte. 13 from LM 90.206 to LM 94.205.					

Project: J7P3277

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0250	4030003	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	11/2/21	11/3/21	1,174.41	TONS	SB driving and passing lanes	224.321		225.007		
			11/3/21	11/4/21	537.95	TONS	SB Rte. 13 and BB Intersection					
			11/4/21	11/5/21	147.37	TONS	Side road and x over					
0260	4071005	TACK COAT	11/2/21	11/3/21	1,753.00	GAL		224.321		225.007		
			11/3/21	11/4/21	682.00	GAL	SB 13 and BB					
			11/4/21	11/5/21	731.00	GAL	Side roads and x overs					
0430	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	11/2/21	11/3/21	22,229.00	SQYD		224.321		225.007		
0440	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	11/4/21	11/5/21	761.00	STA		65.626		72.461		

Project: J8P3118

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0470	4030003	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	11/2/21	11/3/21	336.59	TONS		224.321		225.007		
			11/4/21	11/5/21	442.79	TONS	Side roads and x overs					
0640	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	11/2/21	11/3/21	4,180.00	SQYD	Intersection of 13 and WW and X-overs					
0650	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	11/3/21	11/4/21	1,021.70	STA	North and South bound lanes	59.822		65.626		

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 4/1/2020 Page 7 of 9



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J7P3276	0020	ASPH. CONC. MIXTURE PG 70-22	Construction Stockpile		5	Nov 16, 2021	SYSTEM	(\$32,037.93)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$32,037.93)	
		(SP095C)	Construction	Stockpile - To	tal			(\$32,037.93)	
			Construction Stockpile STMI		1	Apr 1, 2021	SYSTEM	\$172,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction
					2	May 3, 2021	SYSTEM	\$83,923.42	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$256,423.42	
			Construction :	Stockpile STI	/II - Total			\$256,423.42	
			Other Item Adjustment	ACAD	5	Nov 16, 2021	davisjf	\$32,731.71	The AC adjustment represents 10,301.09 TONS of SP095 21-64.
				ACAD - Tota	al			\$32,731.71	
			Other Item Ad					\$32,731.71	
			Price FUEL		5	Nov 16, 2021	SYSTEM	\$43,433.51	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$43,433.51	
			Price FUEL - T	otal				\$43,433.51	
	0020 -	- Total						\$300,550.71	
J7P3276 -	- Total							\$300,550.71	
J7P3277	P3277 0250 AS CO MIXTU PG 70	ASPH. CONC.	Material		4	Nov 1, 2021	SYSTEM	\$358,441.98	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user howels overridding Payment
		MIXTURE PG 70-22 (SP095C)			4	Nov 1,	SYSTEM	(\$358,441.98)	Estimate Exception 1 on the current Payment Estimate.
						2021			
				- Total				\$0.00	
			Material - Total					\$0.00	
			Other Item Adjustment	ACAD	4	Nov 1, 2021	HOWELS	\$41,683.17	
					5	Nov 16, 2021	davisjf	\$7,434.27	The AC adjustment represents 1859.73 TONS of SP095 21-65.
				ACAD - Total				\$49,117.44	
			Other Item Ad	ustment - To	tal			\$49,117.44	
			Price FUEL		4	Nov 1, 2021	SYSTEM	\$43,273.32	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					_				
					5	Nov 16, 2021	SYSTEM	\$7,841.36	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total	5		SYSTEM	\$7,841.36 \$51,114.68	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Price FUEL - T		5		SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	0250 -	· Total	Price FUEL - T		5		SYSTEM	\$51,114.68	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	0250 - 0260	- Total TACK COAT					SYSTEM	\$51,114.68 \$51,114.68	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		TACK		otal	5	2021 Nov 16,		\$51,114.68 \$51,114.68 \$100,232.12	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		TACK		Overrun Overrun - To	5	2021 Nov 16,		\$51,114.68 \$51,114.68 \$100,232.12 (\$1,717.80)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	0260	TACK	Overrun	Overrun Overrun - To	5	2021 Nov 16,		\$51,114.68 \$51,114.68 \$100,232.12 (\$1,717.80)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
J7P3277 -	0260	TACK COAT	Overrun	Overrun Overrun - To	5	2021 Nov 16,		\$51,114.68 \$51,114.68 \$100,232.12 (\$1,717.80) (\$1,717.80)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
J7P3277 - J8P3118	0260 - 0260 -	TACK COAT - Total - ASPH. CONC.	Overrun	Overrun Overrun - To	5	2021 Nov 16,		\$51,114.68 \$51,114.68 \$100,232.12 (\$1,717.80) (\$1,717.80) (\$1,717.80) (\$1,717.80)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user howels overridding Payment Estimate Exception 2 on the current Payment Estimate.
	0260 - 0260 -	TACK COAT • Total	Overrun - Tota	Overrun Overrun - To	5 otal	Nov 16, 2021	SYSTEM	\$51,114.68 \$51,114.68 \$100,232.12 (\$1,717.80) (\$1,717.80) (\$1,717.80) (\$1,717.80) \$98,514.32	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user howels overridding Payment
	0260 - 0260 -	TACK COAT Total ASPH. CONC. MIXTURE PG 70-22	Overrun - Tota	Overrun Overrun - To	5 otal	Nov 16, 2021 Nov 1, 2021 Nov 1,	SYSTEM	\$51,114.68 \$51,114.68 \$100,232.12 (\$1,717.80) (\$1,717.80) (\$1,717.80) (\$1,717.80) \$98,514.32 \$555,571.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user howels overridding Payment
	0260 - 0260 -	TACK COAT Total ASPH. CONC. MIXTURE PG 70-22	Overrun - Tota	Overrun - To	5 otal	Nov 16, 2021 Nov 1, 2021 Nov 1,	SYSTEM	\$51,114.68 \$51,114.68 \$100,232.12 (\$1,717.80) (\$1,717.80) (\$1,717.80) (\$1,717.80) \$98,514.32 \$555,571.56 (\$555,571.56)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user howels overridding Payment
	0260 - 0260 -	TACK COAT Total ASPH. CONC. MIXTURE PG 70-22	Overrun - Tota	Overrun - Total	5 otal	Nov 16, 2021 Nov 1, 2021 Nov 1,	SYSTEM	\$51,114.68 \$51,114.68 \$100,232.12 (\$1,717.80) (\$1,717.80) (\$1,717.80) (\$1,717.80) \$98,514.32 \$555,571.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user howels overridding Payment

Nov 18, 2021



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
				Туре					
J8P3118	0470	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	Other Item Adjustment	ACAD		2021			
					5	Nov 16, 2021	davisjf	\$3,115.57	The AC adjustment represents 779.38 TONS of SP095 21-65.
				ACAD - Tota	al			\$65,733.70	
			Other Item Adj	justment - To	tal			\$65,733.70	
			Overrun	Overrun	Overrun 5		SYSTEM	(\$3,473.71)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - To	otal			(\$3,473.71)	
			Overrun - Tota	ı				(\$3,473.71)	
			Price FUEL		3	Oct 17, 2021	SYSTEM	\$17,988.01	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Nov 1, 2021	SYSTEM	\$47,018.91	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	Nov 16, 2021	SYSTEM	\$3,286.18	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$68,293.10	
			Price FUEL - T	otal				\$68,293.10	
	0470 -	0470 - Total							
	5201	TACK COAT - LOW OR NON-	Material		3	Oct 17, 2021	SYSTEM	(\$12,314.15)	
				- Total				(\$12,314.15)	
		TRACKING	Material - Total					(\$12,314.15)	
			MaterialCredit		4	Nov 1, 2021	SYSTEM	\$12,314.15	
				- Total				\$12,314.15	
			MaterialCredit	- Total				\$12,314.15	
	5201 -	Total						\$0.00	
J8P3118 -	- Total						\$130,553.09		
Overall -	Total							\$529,618.12	